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BOOKS - MARVEL MATHS (HINGLISH)

MATHEMATICAL LOGIC

Multiple Choice Question

1. Ifp : Square of any real number is positive,

q:5+4=11 and r: Square of any odd number is

even, which of the following has truth-value T?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VBjrOtONv3OJ


A. P

B. q

C. r

D. 

Answer: D

Watch Video Solution

~p ∧ ~q ∧ ~r

2. If p: Mumbai is the capital of India,

 when x=2, r : 829 is

divisible by 9, which fo them has truth-valueT?

q : x2 − 5x − 6 = 0

https://dl.doubtnut.com/l/_VBjrOtONv3OJ
https://dl.doubtnut.com/l/_aOyGzZ7hAZxh


A. p

B. ~q

C. r

D. p or r

Answer: B

Watch Video Solution

3. If P : Every natural number is whole number,

q : Equation  has two realx2 − 3x + 2 = 0

https://dl.doubtnut.com/l/_aOyGzZ7hAZxh
https://dl.doubtnut.com/l/_1iZMsav7LBGi


roots, r :36 is a prime number, which of them

has truth-value F?

A. p

B. q

C. r

D. p or r

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1iZMsav7LBGi


4. Ifp:  is

mango,q: for all ,r:

for all real values of 

which of them is not a statement?

A. p

B. q

C. r

D. p or r

Answer: B

Watch Video Solution

sin 2θ = 2 sin θ cos θ  where θ

sin 2θ = 2 sin θ cos θ θ

sin 2θ = 2 sin θ cos θ θ,

https://dl.doubtnut.com/l/_AW5XCyrwopNM


Watch Video Solution

5. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

statement [ in 

Rohit is tall and handsome.

A. 

B. 

C. 

D. 

p ∨ q

p ∧ q

p → q

p ↔ q

https://dl.doubtnut.com/l/_AW5XCyrwopNM
https://dl.doubtnut.com/l/_OP4G0OyjswYV


Answer: B

Watch Video Solution

6. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

statement [ in Rohit is tall or not handsome.

A. 

B. 

C. 

D. 

~p ∨ ~q

~p ∨ q

p ∨ ~q

(p ∨ q)

https://dl.doubtnut.com/l/_OP4G0OyjswYV
https://dl.doubtnut.com/l/_mMLG62sRrR3T


Answer: C

Watch Video Solution

7. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

statement [ in 

Rohit is neither tall nor handsome.

A. 

B. 

C. 

~(p ∨ ~q)

~p ∧ ~q

~(p ∧ ~q)

https://dl.doubtnut.com/l/_mMLG62sRrR3T
https://dl.doubtnut.com/l/_BHjYGiQ7xc8y


D. 

Answer: B

Watch Video Solution

~p → ~q

8. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

statement [ in 

Rohit is tall, or he is short and handsome.

A. p ∨ (~p ∧ q)

https://dl.doubtnut.com/l/_BHjYGiQ7xc8y
https://dl.doubtnut.com/l/_5G0SYofqDPeW


B. 

C. 

D. 

Answer: A

Watch Video Solution

p ∧ (~p ∧ q)

p ∨ (p ∧ ~q)

p ∨ ~(p ∧ q)

9. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

statement [ in 

It is false that Rohit is short or handsome.

https://dl.doubtnut.com/l/_5G0SYofqDPeW
https://dl.doubtnut.com/l/_2Zs0E2n3fOQy


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

~(p ∧ q)

p ∨ ~q

p ∧ ~q

~(p ∧ q)

10. If p: Rohit is tall q:Rohit is handsome,

indicate the symbolic form of the following

https://dl.doubtnut.com/l/_2Zs0E2n3fOQy
https://dl.doubtnut.com/l/_FhYkxkgGkzyc


statement [ in It is not true that Rohit is short

or not handsome.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

~(~p ∧ ~q)

~(~p ∧ ~q)

~p ∨ ~q

p ∧ q

https://dl.doubtnut.com/l/_FhYkxkgGkzyc


11. If p: Sam is fat,q : Sam is happy,indicate the

symbolic form of the following verbal

statements 

Sam is thin but happy.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

~p ∨ q

p ∨ ~q

p ∧ ~q

~p ∧ q

https://dl.doubtnut.com/l/_stfHabSWrRgT


Watch Video Solution

12. If p: Sam is fat,q : Sam is happy,indicate the

symbolic form of the following verbal

statements 

Sam is fat or unhappy.

A. 

B. 

C. 

D. 

~p ∨ q

p ∨ ~q

p ∧ ~q

~p ∧ q

https://dl.doubtnut.com/l/_stfHabSWrRgT
https://dl.doubtnut.com/l/_aua69Dck8eEb


Answer: B

Watch Video Solution

13. If p: Sam is fat,q : Sam is happy,indicate the

symbolic form of the following verbal

statements 

If sam is fat, then he is happy.

A. 

B. 

C. 

p ↔ q

p ↔ ~q

p → q

https://dl.doubtnut.com/l/_aua69Dck8eEb
https://dl.doubtnut.com/l/_WEj1hKHHYL7F


D. 

Answer: C

Watch Video Solution

~p → q

14. If p : It is cold, q : It is raining indiacate the

verbal form of the following symbolic

statements 

A. Isn't is cold?

~P

https://dl.doubtnut.com/l/_WEj1hKHHYL7F
https://dl.doubtnut.com/l/_RN0aeMfQRQe7


B. It is hot or what?!

C. It is not cold.

D. Isn't it hot?

Answer: C

Watch Video Solution

15. If p : It is cold, q : It is raining. Indiacate the

verbal form of the following symbolic

statements q ∨ ~p

https://dl.doubtnut.com/l/_RN0aeMfQRQe7
https://dl.doubtnut.com/l/_iUEwrTeHkSOd


A. It is raining and it is not cold.

B. It is rainingj or it is not cold.

C. It is raining but cold.

D. None of these

Answer: B

Watch Video Solution

16. If p : It is cold, q : It is raining indiacate the

verbal form of the following symbolic

https://dl.doubtnut.com/l/_iUEwrTeHkSOd
https://dl.doubtnut.com/l/_DvrzilPlDOz1


statements 

A. It is neither cold nor raining.

B. when it is not raining, it is also not cold.

C. It is not cold or it is not raining.

D. It is raining but cold.

Answer: C

Watch Video Solution

~p ∨ ~q

https://dl.doubtnut.com/l/_DvrzilPlDOz1


17. If p : It is cold, q : It is raining indiacate the

verbal form of the following symbolic

statements 

A. It is neither cold nor raining.

B. It is not either cold or hot.

C. It has stopped raining yet it is cold.

D. It is not cold or raining.

Answer: A

Watch Video Solution

~p ∧ ~q

https://dl.doubtnut.com/l/_t5MeUKTNIipk


Watch Video Solution

18. If p : price increase,q : demand falls,

indicate the symbolic form of the following

verbal statements [If] Prcie increases, then

demand falls.

A. 

B. 

C. 

D. 

q → q

p → q

~q ∨ q

q ∧ q

https://dl.doubtnut.com/l/_t5MeUKTNIipk
https://dl.doubtnut.com/l/_VHRyQ2UYI1v4


Answer: B

Watch Video Solution

19. If p : price increase,q : demand falls,

indicate the symbolic form of the following

verbal statements Price increase if, and only if,

demand falls.

A. 

B. 

C. 

p ↔ q

q → q

q → q

https://dl.doubtnut.com/l/_VHRyQ2UYI1v4
https://dl.doubtnut.com/l/_kuqJmEFLsnrD


D. 

Answer: A

Watch Video Solution

q ∧ q

20. If p : price increase,q : demand falls,

indicate the symbolic form of the following

verbal statements If demand does not fall,

then price does not increses

A. ~q ∧ ~q

https://dl.doubtnut.com/l/_kuqJmEFLsnrD
https://dl.doubtnut.com/l/_qqn1ABz3Mhzl


B. 

C. 

D. 

Answer: B

Watch Video Solution

~q → ~p

q → p

p → q

21. If p : price increase,q : demand falls,

indicate the symbolic form of the following

verbal statements If price does not increses,

then demand does not fall.

https://dl.doubtnut.com/l/_qqn1ABz3Mhzl
https://dl.doubtnut.com/l/_7PWDR5zMD7By


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

~q → ~p

q → p

p ∨ ~q

~p → ~q

22. If truth-values of statements p andq are F

and T respectively. Then the truth-value of

https://dl.doubtnut.com/l/_7PWDR5zMD7By
https://dl.doubtnut.com/l/_7prcQY7Zc0Od


A.  is T

B.  is F

C.  is F

D. 

Answer: C

View Text Solution

~p → ~q

p → (q ∧ p)

(p ∧ ~q) ∧ (p ∧ ~q)

p ∧ ~q = T

23. If  are both true, then

the truth-values of p and q are respectively

(p ∨ q) and (p ∧ q)

https://dl.doubtnut.com/l/_7prcQY7Zc0Od
https://dl.doubtnut.com/l/_mfdonEq2gb7H


A. T,F

B. F,T

C. F,F

D. T,T

Answer: D

Watch Video Solution

24. If  is false, then the truth-

values of p and q are respectively

[(p ∨ q) → q]

https://dl.doubtnut.com/l/_mfdonEq2gb7H
https://dl.doubtnut.com/l/_WSKrykCX58XD


A. T,F

B. F,T

C. F,F

D. T,T

Answer: A

Watch Video Solution

25. If statements " and 

are both false, then truth-values of p and q are

respectively

(p ∧ q) [(p ∧ q) ↔ q]

https://dl.doubtnut.com/l/_WSKrykCX58XD
https://dl.doubtnut.com/l/_qeahstdGGt9Y


A. T,F

B. F,T

C. F,F

D. T,T

Answer: B

Watch Video Solution

26. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

https://dl.doubtnut.com/l/_qeahstdGGt9Y
https://dl.doubtnut.com/l/_k8CYasbSNFMs


the compound statement 

A. -1

B. 

C. F

D. T

Answer: D

View Text Solution

[(P → q)] → (q → r) → (r, s)

θ

https://dl.doubtnut.com/l/_k8CYasbSNFMs


27. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement 

A. T

B. F

C. both T and F

D. 10

Answer: B

Watch Video Solution

[p ∧ (q ∧ r)] ∨ ~[(p ∨ q) ∧ (~r ∨ s)]

https://dl.doubtnut.com/l/_uP4PzE4Y6nBP


Watch Video Solution

28. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement 

A. T

B. F

C. both T and F

D. 1

(~r ↔ p) → ~q

https://dl.doubtnut.com/l/_uP4PzE4Y6nBP
https://dl.doubtnut.com/l/_yvuRmVgpWlZX


Answer: B

Watch Video Solution

29. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement 

A. T

B. F

C. both T and F

[p ∨ (q ∧ r)] ∨ [(p ∧ q) ∨ (r ∨ s)]

https://dl.doubtnut.com/l/_yvuRmVgpWlZX
https://dl.doubtnut.com/l/_6hvRTKXggV1b


D. 0

Answer: A

Watch Video Solution

30. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement 

A. T

~[(p ∧ r)] ∨ (~q ∨ s)

https://dl.doubtnut.com/l/_6hvRTKXggV1b
https://dl.doubtnut.com/l/_czQwNK4oGLG9


B. F

C. both T and F

D. 1

Answer: A::D

Watch Video Solution

31. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement

[(~p ∧ q) ∧ ~r] ∨ [(q → r) → (~s ∨ r)]

https://dl.doubtnut.com/l/_czQwNK4oGLG9
https://dl.doubtnut.com/l/_axszePjT1wLj


A. T

B. F

C. both T and F

D. 0

Answer: A

Watch Video Solution

32. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement ~q ∨ (~p → r)

https://dl.doubtnut.com/l/_axszePjT1wLj
https://dl.doubtnut.com/l/_TDfdNigjF1HR


A. T

B. F

C. both T and F

D. 0

Answer: A

Watch Video Solution

33. If statements p.q. are both true and r,s, are

both false, then indicate the truth -value of

the compound statement ~q ∧ (r → q)

https://dl.doubtnut.com/l/_TDfdNigjF1HR
https://dl.doubtnut.com/l/_2LdTKkqOgBeX


A. T

B. F

C. both T and F

D. 1

Answer: B

Watch Video Solution

34. If p is any statement, then  is a

A. contingency

(p ∧ ~)

https://dl.doubtnut.com/l/_2LdTKkqOgBeX
https://dl.doubtnut.com/l/_Ka5GibJQOmGH


B. contradiction

C. tautology

D. paradox

Answer: C

View Text Solution

35. If p is any statement, then  is a

A. contingency

B. contradiction

( ∧ ~p)

https://dl.doubtnut.com/l/_Ka5GibJQOmGH
https://dl.doubtnut.com/l/_lCZihpbebbeC


C. tautology

D. theorem

Answer: B

View Text Solution

36. Ifp : 'If a man is rich, then he is happy',q: 'If

a man is not rich, then he is not happy', r :'If a

man is unhappy, then he is nor rich' and s: 'If a

man is happy, then he is rich', then pairs of

https://dl.doubtnut.com/l/_lCZihpbebbeC
https://dl.doubtnut.com/l/_nr4RlGdoAI9f


statements having the same meaning

(equivalent) are :

A. p,q and r,s

B. p,s and q,r

C. p,r and q,s

D. 

Answer: C

Watch Video Solution

~p, s and ~q, r

https://dl.doubtnut.com/l/_nr4RlGdoAI9f


37. The negation of the statement  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(~p ∨ ~q)

p → q

p ∨ q

~p ∧ ~q

p ∧ q

https://dl.doubtnut.com/l/_dvTj3xTZ7ESG


38. The negation of the statement

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(~p ∨ ~q) ∨ (p ∧ ~q)

p → q

p ↔ q

(p ∧ ~q) ∧ (p ∨ ~q)

q

https://dl.doubtnut.com/l/_JJNl8I1rmTKb
https://dl.doubtnut.com/l/_TcTj58cGsGBe


39. The dual of the statement

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(p ∧ q) ∨ ~q = p ∨ ~q

(p ∨ )~q = p ∨ ~q

(p ∧ q) ∧ ~q = p ∨ ~q

(p ∨ q) ∧ ~q = p ∧ ~q

(q ∧ p) ∨ ~p = q ∨ ~p

https://dl.doubtnut.com/l/_TcTj58cGsGBe


40. The dual of the statement

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∨ (q ∨ r) ≡ (p ∨ q) ∨ r

p ∧ (q ∨ r) ≡ (p ∧ q) ∨ r

p ∧ (q ∧ r) ≡ (p ∧ q) ∧ r

p ∨ (q ∧ r) ≡ (p ∧ q) ∨ r

p ∨ (q ∧ r) = (p ∧ q) ∨ r

https://dl.doubtnut.com/l/_8DqJxjhVAOwc
https://dl.doubtnut.com/l/_mzEjxuiHgEHo


41. Negation of the statement "This is false or

That is true" is

A. That is true or This false.

B. That is true and This is false.

C. This is true and That is false.

D. This is false and That is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mzEjxuiHgEHo


42. Negation of the statement 'This is true and

That is false' is

A. That is true or This is false.

B. That is true and This is false.

C. This is false and That is true.

D. This is false or That is true.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2V9SRe7RvEGU
https://dl.doubtnut.com/l/_qBQXtefSHCMM


43. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then

A. t

B. f

C. p

D. 2

Answer: C

Watch Video Solution

p ∨ f ≡

https://dl.doubtnut.com/l/_qBQXtefSHCMM
https://dl.doubtnut.com/l/_fgBE0nLxwRvL


44. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then 

A. t

B. f

C. p

D. 0

Answer: A

Watch Video Solution

p ∨ t ≡

https://dl.doubtnut.com/l/_fgBE0nLxwRvL


45. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then 

A. t

B. f

C. p

D. 3

Answer: C

Watch Video Solution

p ∧ t ≡

https://dl.doubtnut.com/l/_UkZY02PAWTeR


46. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then 

A. t

B. f

C. p

D. 1

Answer: B

Watch Video Solution

p ∧ f ≡

https://dl.doubtnut.com/l/_WmJqlX38ctk9


47. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then 

A. t

B. f

C. p

D. 0

Answer: B

Watch Video Solution

p ∧ ~p ≡

https://dl.doubtnut.com/l/_WD4ehJryNtrX


48. If statements t and f represent a tautology

and a contradiction (fallacy) respectively, then

A. t

B. f

C. p

D. 1

Answer: B

View Text Solution

p ∧ ~ ≡

https://dl.doubtnut.com/l/_o4TFXDgRnQUV


49. If p is the sentence 'This statement is false',

then

A. truth-value of p is T

B. truth-value of p is F

C. p is both true and false

D. p is neither true nor false

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8cAxVK5hzF03
https://dl.doubtnut.com/l/_TfPHuI6JMcGm


50. If p : If the dozen is thirteen, then this

sentence will contain thirteen words, then

A. truth-value of p is T

B. truth-value of p is F

C. p is both true and false

D. p is neither true nor false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TfPHuI6JMcGm


51. Which of the following is the conditional

?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p → q

p → ~q

~p ∨ q

~p → ~q

p ∨ ~q

https://dl.doubtnut.com/l/_8TDqBO0CYsIQ
https://dl.doubtnut.com/l/_7tNz0TtSExhm


52. If  is false, then truth

values of p,q and r are respectively.

A. F,F,T

B. T,F,F

C. F,T,T

D. T,F,T

Answer: B

Watch Video Solution

(p ∧ ~r) → (~p ∨ q)

https://dl.doubtnut.com/l/_7tNz0TtSExhm


53.  


Current flows through the above circuit when

A. p,q are closed and r is open

B. p,q,r are closed

C. p,q, r are open

D. p,q', r are open

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_21Mj4l2Gb5Lb


54. The simplified form of the circuit : 

 is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_21Mj4l2Gb5Lb
https://dl.doubtnut.com/l/_TH7oNfj8ywji


D. 

Answer: C

Watch Video Solution

55. The statement  is equivalent

to

A. 

B. 

C. 

p → (q → p)

p → ( ↔ q)

p → (p → q)

p → (p ∨ q)

https://dl.doubtnut.com/l/_TH7oNfj8ywji
https://dl.doubtnut.com/l/_j42oAlrUta0X


D. 

Answer: C

Watch Video Solution

p → (p ∧ q)

56. Let S be non-empty subset of R. consider

the following statement: 

P: There is a rational number

 


Which of the following statements is the

negation of the statement P ?

x ≠ S  such that x > 0

https://dl.doubtnut.com/l/_j42oAlrUta0X
https://dl.doubtnut.com/l/_YacjZVJTn3ZY


A. There is a rational number x  S such

that 

B. There jis no rational number x S such

that x 0

C. Every rational number x S satisfies x

0

D. x S and  is not rational

Answer: C

Watch Video Solution

∈

x ≤ 0

∈

≤

∈

≤

∈ x ≤ − ⇒ x

https://dl.doubtnut.com/l/_YacjZVJTn3ZY
https://dl.doubtnut.com/l/_O66Es7L50xZJ


57. The only statement among the following

i.e. a tautology is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B → [A ∧ (A → B)]

A ∧ (A ∨ B)

A ∨ (A ∧ B)

[A ∧ (A → B)] → B

https://dl.doubtnut.com/l/_O66Es7L50xZJ
https://dl.doubtnut.com/l/_EeDHv0DHcUUD


58. Consider the following statements 

P: Suman is brilliant 

Q: Suman is rich 

R: Suman is honest 

The negation of the statement "Suman is

brilliant and dishonest if any only if Suman is

rich" can be expressed as

A. 

B. 

C. 

D. 

~[Q ↔ (P ∧ R]

~Q ↔ P ∧ R

~(P ∧ R) → Q

~P ∧ (Q → ~R)

https://dl.doubtnut.com/l/_EeDHv0DHcUUD


Answer: A

Watch Video Solution

59. The negation of the statement 

"If I becomes a teacher, then I will open a

school", is

A. I will become a teacher and I will not

open a school

B. Either I will not become a teacher or I

will not open a school

https://dl.doubtnut.com/l/_EeDHv0DHcUUD
https://dl.doubtnut.com/l/_orJI4TSmGUVV


C. Neither I will become a teacher a nor I

will open a school

D. I will not become a teacher a teacher nor

I will open a school

Answer: A

Watch Video Solution

60. The statement  is

A. equivalent to 

~(p ↔ ~q)

p → q

https://dl.doubtnut.com/l/_orJI4TSmGUVV
https://dl.doubtnut.com/l/_5WYFiZBtxrC7


B. equivalent to 

C. a tautoloy

D. a faallacy

Answer: A

Watch Video Solution

~p → q

61. The equivalent of  is

:

A. F

(P → ~p) ∨ (~p → p)

https://dl.doubtnut.com/l/_5WYFiZBtxrC7
https://dl.doubtnut.com/l/_b0Tu3LY5V13L


B. 

C. 

D. 

Answer: C

Watch Video Solution

(P → ~p) ∧ (~p → p)

p ∨ T

p ∧ ~p

62. t : Ram is talented, r : Ram is rich, s: Ram jis

successful. Ram is neither talented nor rich

and hence he is not successful is represented

as :

https://dl.doubtnut.com/l/_b0Tu3LY5V13L
https://dl.doubtnut.com/l/_kiiRtOUrDNMT


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(~t ∧ ~r) → ~s

~(t ∧ r) → ~s

~(t ∧ ~r) → ~s

(~t ∨ ~r) → s

https://dl.doubtnut.com/l/_kiiRtOUrDNMT


63. The dual of 

 is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∨ (q ∧ r)

p ∨ (q ∨ r)

p ∨ (q ∧ ~r)

(~p ∨ ~q) ∧ (~p ∧ ~r)

https://dl.doubtnut.com/l/_7g7nmCyW5reb


64. The negation of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p ∨ q

~p ∨ ~q

~p ∧ ~q

p ∧ ~q

~p ∨ q

https://dl.doubtnut.com/l/_7g7nmCyW5reb
https://dl.doubtnut.com/l/_mzm8iMLAl11T
https://dl.doubtnut.com/l/_ajFArSaGWz0h


65. The simplified form of  is

A. p

B. q

C. 

D. 

Answer: A

Watch Video Solution

(p ∧ q) ∨ (p ∧ ~q)

p ∧ q

p ∨ q

https://dl.doubtnut.com/l/_ajFArSaGWz0h


66. If p,q,r are single proposition with truth

values T, F, F, then the truth value of

 is

A. T

B. F

C. Cannot find

D. Both T and F

Answer: B

Watch Video Solution

(p ∧ ~q) → (~p ∨ r)

https://dl.doubtnut.com/l/_M083fpxhiw1r


67.  is equivalent to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(p ∧ q) ∨ ~p

~p ∧ q

~p ∨ q

p ∧ q

p ∨ q

https://dl.doubtnut.com/l/_LpVwQ2mVTJFw


68. Which of the following statements is

contingency?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[p → q] ∧ (q → r)] → (p → r)

p → (p ∨ q)

[p → (q → r)] ↔ [(p ∧ q) → r]

(p ∧ q) ∨ r

https://dl.doubtnut.com/l/_9ZklFr2hjNn1
https://dl.doubtnut.com/l/_ETHZQIj5B0gd


69. If  is true, and p is false, then q is

A. true

B. false

C. either true or false

D. neither true nor false

Answer:

Watch Video Solution

p → q

70. If  is false, and q true, then p isp ↔ q

https://dl.doubtnut.com/l/_ETHZQIj5B0gd
https://dl.doubtnut.com/l/_9Qvw1sOtZmTS


A. 1

B. false

C. true

D. neither true nor false

Answer:

Watch Video Solution

71. If  is false, then the truth

values of p and q are respectively

p → (~p ∨ q)

https://dl.doubtnut.com/l/_9Qvw1sOtZmTS
https://dl.doubtnut.com/l/_6IuqiUpvWUEy


A. F,T

B. F,F

C. T,T

D. T,F,

Answer:

Watch Video Solution

72. If  is false, then the truth

values of p and q are respectively

p → (p → q)

https://dl.doubtnut.com/l/_6IuqiUpvWUEy
https://dl.doubtnut.com/l/_KOA6mqUC33yZ


A. F,T

B. F,F

C. T,T

D. T,F

Answer:

Watch Video Solution

73. If  is false, then the truth

values of p,q and r are respectively

p → (q ∨ r)

https://dl.doubtnut.com/l/_KOA6mqUC33yZ
https://dl.doubtnut.com/l/_hGnMmoHregZj


A. T,F,F

B. F,F,F

C. F,T,T

D. T,T,F

Answer:

Watch Video Solution

74. If  is false, then the truth value

of p and q are respectively

(p ∨ q) ⊤

https://dl.doubtnut.com/l/_hGnMmoHregZj
https://dl.doubtnut.com/l/_DsCK0baiYhqd


A. F,F,

B. T,T

C. T,F

D. F,T

Answer:

Watch Video Solution

75. Contrapositive of the conditional

statement 

 is(~p) → (p ∧ q)

https://dl.doubtnut.com/l/_DsCK0baiYhqd
https://dl.doubtnut.com/l/_uuDbrKtqYXtS


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(~p ∨ ~q) → ~p

(p ∨ q) → p

(~p ∨ q) → p

(~p ∨ ~q) → p

https://dl.doubtnut.com/l/_uuDbrKtqYXtS


76. Symbolic form of the following circuit is : 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

p ∨ (p ∧ r)

p ∧ (q ∧ r)

p ∧ (q ∨ r)

(p ∨ r) ∧ q

https://dl.doubtnut.com/l/_C271ClelAP4f


77. Switching circuit for the statement pattern

 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(p ∧ q) ∨ (r ∧ ~p)

https://dl.doubtnut.com/l/_C271ClelAP4f
https://dl.doubtnut.com/l/_nNpLDAvJYS4M


78. Simplest circuit equivalent to the following

circuit is : 

A. 

B. 

C. 

D. 

Answer:

https://dl.doubtnut.com/l/_La60pXeX8M8d


Watch Video Solution

https://dl.doubtnut.com/l/_La60pXeX8M8d

